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Giselle uses a flashlight, a foam ball, and a skewer to show the relationship between Earth and the
Sun.

Skewer

Fiadnight

Foam Ball

T the position shown, the model represents summer in the Southern Hemisphere. How can Gisclle:
‘change the model to represent summer in the Northern Hemisphere?

7). by tuning the ashlght away from the foam ball

B) by pointing the top of th skewer toward the flashlight

) by making the foam ball hang lower than the ashlight

D) by increasing the distance between the foam ball and the fashlight
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Scotland receives 173 hours of daylight in the summer and 7 hours of daylight in the

Location of Edinburgh, Scotland on Earth

Which BEST explains the long summer days in Edinburgh?
A) Earth s closer o the Sun i the summer, so more of the rays of the Sun reach Edinburgh.

8) Edinburgh s tilted toward the Sun inthe summer, s it is exposed to more sulight.
©) The ate of rotation of Earth changes 2 the seasons change, exposing Edinburgh to more sunlight.

D) The location of Edinburgh near the Arctic Circl resultsin the city receiving direct sunlight in the
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‘The magnitude of the gravitational force between two planets depends on the
) speed the plantsroae.

B) other nearby planets.

©) vohume o the planets.

D) distanc beteenthe plants.
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Planets in the solar system are in constant motion. What factor has the greatest effect on the orbits of
the planets?

A) the size of the planets

B) gravitational pull o the Sun

©) the composition of the planets

D) electromagnetic radiation from the Sun
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planets in orbit around the Sun?
A) airresistance

8) friction
©) gravity
D) magnetism




